

Highline Public Schools Board Action Report

\boxtimes	Supports	the	Strategic	Plan
-------------	----------	-----	-----------	------

DATE: March 29, 2019

FROM: Dr. Susan Enfield, Superintendent

LEAD STAFF: Scott Logan, Chief Operations Officer

Rod Sheffer, Executive Director of Capital Planning and Construction

For Introduction: April 3, 2019 For Action: April 3, 2019

I.TITLE Des Moines Elementary School – Approval to Award Contract for Purchase of Furniture, Fixtures, and Equipment

II. WHY BOARD ACTION IS NECESSARY Pursuant to Procedure 9240 Construction Phase and Procedure 6225 Approval of Contracts the School Board is required to approve all contracts of \$250,000 or more.

III. BACKGROUND INFORMATION

The purchase and installation of Des Moines Elementary School's furniture, fixtures, and equipment was not included in the school construction contract. The District can save the added costs of contractor mark-up by purchasing the furniture, fixtures, and equipment through School Specialty.

As a member of National Intergovernmental Purchasing Association (NIPA) and pursuant to the Intergovernmental Cooperation Act, RCW 39.30, Highline School District is authorized to purchase through NIPA contracted vendors; School Specialty is a contracted vendor.

Capital Planning and Construction staff and school staff met with School Specialty representatives to assure the furniture, fixtures, and equipment selected meet the needs of the staff and students.

School Specialty's proposal including installation is \$1,055,922.69, plus Washington State sales tax of \$105,592.27, for a total of \$1,161,514.96.

IV. RECOMMENDED MOTION

I move that the Highline School Board approve the award of contract to School Specialty to provide furniture, fixtures, and equipment for the new Des Moines Elementary School in the amount of \$1,055,922.69, plus Washington State sales tax of \$105,592.27, for a total of \$1,161,514.96.

V. FISCAL IMPACT/REVENUE SOURCE

Fiscal impact to this action will be (amount and source including fund Example - \$522,000 from general fund Title 1 revenue). \$1,161,514.96

The revenue source for this motion is 2016 Capital Bond Fund .

Expenditure: One-time Annual

VI. APPLICABLE POLICY(S)

This action is in compliance with the following: Procedure 9240 Construction Phase,

VIII. COMMUNITY ENGAGEMENT

Community Engagement Required: Yes No
If yes, list community engagement conducted for this issue

IX. POLICY MONITORING PLAN

This new or revised policy will be monitored by the School Board:
Quarterly Semi-Annually Annually Not Applicable

The metrics that will be used to monitor this policy include: N/A

X. ATTACHMENTS

School Specialty Proposal, dated March 25, 2019

Procedure 6225 Approval of Contracts, and RCW 39.30 Intergovernmental Cooperation Act





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

IIP TO:
S MOINES ELEMENTARY SCHOOL
001 9TH AVE SOUTH
S MOINES, WA 98198
S 00

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
1	41	FC1 2222 F A129 B9 FG3 C17 B0 MC21 TX1 Z1 KD	EXEMPLIS (SIT ON IT)	\$359.75	\$14,749.75
			TASK CHAIR - WIT- MID-BACK WITH ADJUSTABLE LUME ADJUSTABLE HEIGHT AND WIDTH ARMS - HARD FLOOF CHOOSE THINTEX BACK: NICKEL CHOOSE FABRIC SEAT: MOTION SAPPHIRE		
2	4	SWP562	GLOBAL	\$1,020.16	\$4,080.64
			SWAP TABLE - 48" ROUND - INCLUDES GRBTP48 ROUN	D TOP AND GRB	28 ROUND BASE
			SPECIFY LAMINATE TOP/EDGE: CLEAR MAPLE SPECIFY LEG FINISH: CHARCOAL		
3	4	FREEFIT 30X70	GLOBAL	\$1,804.80	\$7,219.20
			WS1 - SIT-TO-STAND TABLE 30"D X 70"L WITH MODES 3 STAGE COLUMN, HEIGHT ADJUSTABLE PROGRAMMA FREEFIT™ TABLES 70"W RECTANGULAR TOP (PHAT297 LAMINATE: CLEAR MAPLE #CMB FRAME: CHARCOAL	BLE BASE FFHAT	,
4	2	F006-48X33X18-G		\$1,276.00	\$2,552.00
			AMEOBA SOFT SEATING - 18" HEIGHT - 48"X33"	. ,	, ,
			CHOOSE VINYL: TOP: SILVERTEX MARINE BLUE #STX-8801 BASE: CF STINSON SUPERSILLNESS #6382 SALTWATER CHOOSE GLIDES		
5	2	652283	BRETFORD	\$269.85	\$539.70
			AUDIO VISUAL CART BRETFORD ADJUSTABLE WITH ELE	CTRIC 24WX18D	X26-42H BLACK
	2	PN2452BLS	GLOBAL	\$462.72	\$925.44
6	_				
6	2		BOOKCASE OFFICE - LAMINATE - 24"W X 12"D X 52"H 3 ADJUSTABLE SHELVES & 1 BASE SHELF.		
6	2				





QUOTATION: PBD2019015698

GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			CHAMPION SPORTS DOUBLE WIDE BALL CA AND TRANSPORT YOUR PLAYING BALLS, CO STEEL TUBING. THE FOUR TIER DESIGN HOL EACH. HEAVY DUTY LOCKING SWIVEL CASTI MAR GYM FLOORS. PRODUCT DIMENSIONS WHEEL TYPE: SWIVEL CASTERS	NSTRUCTED WITH ONE INC DS 48 BALLS- HAS EIGHT RC ERS PROVIDE SMOOTH ROL	H CHROME PLATED DWS WITH 6 BALLS
8	1	012733	SCHOOL SPECIALTY	\$81.95	\$81.95
			URACART BIG BALL SINGLE-SHELF WALL RA TO SAFELY STORE EXERCISE BALLS. THE WA EQUIPMENT OUT OF THE WAY DURING WO	LL MOUNTED RACK ENABLE	•
9	1	032268	SCHOOL SPECIALTY	\$764.99	\$764.99
			OBSTACLE COURSE THAT CAN BE CHANGED CHILDREN. BARREL INSERT MEASURES 36 X 4 X 29 IN, WHILE EACH OF THE 2 LEGS IS 42 POLYURETHANE FOAM AND COVERED WITT VINYL. HOOK AND LOOP HOOK-AND-LOOP TO ASSEMBLE THE BARREL COMBO IN DIFF APPARATUS FOR CHILDREN TO TUMBLE AN FIT INTO ONE ANOTHER TO PROVIDE YOU VPLAY EQUIPMENT. SET INCLUDES 2 BARREL 29 IN), 2 LEGS (42 X 10 X 6 IN	21 IN AND THE HOLLOW B, X 10 X 6 IN. IT IS MADE FRO H A TOUGH AND DURABLE : ATTACHMENTS ARE STRATE ERENT DESIGNS AND STILL (D ROLL ACROSS. ALL SECTION	ARREL MEASURES 36 X DM HIGH-DENSITY 18 OUNCES COATED EGICALLY POSITIONED OFFER A SECURE DNS COME APART AND RSATILE PIECES OF
10	2	16.0095.5??.000	FLEETWOOD	\$374.36	\$748.72
			BC1 - LOW BOOKCASE, 1 ADJUSTABLE SHEL 36"WX29"HX12"D CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE	F PLUS BASE SHELF	
	3	A3636TBC	GLOBAL	\$353.28	\$1,059.84
11			BC2 -BOOKSHELF, LAMINATE SHELVES, 36"\ TO SIT ON 2H LATERAL	W X 12"D X 30"H - 3 SHELF	
11					
11			CHOOSE LAMINATE: WALNUT HEIGHTS #W	HE	
11	2	1570077	CHOOSE LAMINATE: WALNUT HEIGHTS #W ECR4KIDS LP	HE \$112.50	\$225.00





DATE: 3/25/2019 QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
13	2	1150	INSTITUTIONAL FURNITURE CONCEPTS (IFC)	\$1,240.00	\$2,480.00
			5 FEET LONG WOOD BENCH WOOD: NATURAL FRAME: GRAY		
14	1	PAS FS2 BNS3 FG4 XGVL LBC3 P1	IDEON	\$748.15	\$748.15
			BENCH - RIGHT ANGLED END ON BASE 17.5"H SEAT X 40"WIDE X 27"DEEP		
			CHOOSE FABRIC: MOMENTUM FAUX FELT LAGOON CHOOSE BASE: SLATE		
15	1	PAS FS2 BNS4 FG4 XGVR LBC3 P1	IDEON	\$748.15	\$748.15
			BENCH - LEFT ANGLED END ON BASE WITH GANGING	BRACKET	
			17.5"H SEAT X 40"WIDE X 27"DEEP		
			CHOOSE FABRIC: MOMENTUM FAUX FELT LAGOON CHOOSE BASE: SLATE		
16	3	PBLOX-17-G?	MEDIA TECHNOLOGIES	\$361.80	\$1,085.40
			BLOX SOFT SEATING - PAC-MAN/CRESCENT		
			17"X 17" X 17"H CHOOSE VINYL: MOMENTUM GRAPH RUBY •GRADE 3 FABRIC, GRADE 3 FABRIC: QTY 1.00 •, PBLOX.JPG: QTY 1.00		
17	5	CBLOX-17-G6	MEDIA TECHNOLOGIES	\$361.80	\$1,809.00
			BLOX SOFT SEATING - CYLINDER, 17"D X 17"W X 17"H	1	
			FABRIC: MAYER ACCLAIM ORANGE PEEL		
18	1	30-9030	KINGSLEY COMPANIES	\$1,286.50	\$1,286.50
			BOOK RETURN CART 30 SERIES 20" WITH X 21.5" DEPTH X 38.25" HIGH PRING ASSEN LEVELING FLOAT TRAY AS MATERIALS ARE ADDED FO MATERIALS ARE REMOVED. THE DURABLE AND SOFT WITH HANDLE - BLACK	R LESS DAMAGE,	AND RAISES AS
19	8	204148	BIRD IN HAND	\$224.95	\$1,799.60





DATE: 3/25/2019 QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE I	EXTENDED PRICE
			QS BOOK DISPLAY 5 SHELF W/MAGNETIC DF 29"H X 36"L X 12"D	RY ERASE BACK	
20	1	A3636TBC	GLOBAL	\$353.28	\$353.28
			BC2 -BOOKSHELF, LAMINATE SHELVES, 36"V TO SIT ON 2H LATERAL	V X 12"D X 30"H - 3 SHELF	
			CHOOSE LAMINATE: CLEAR MAPLE #CMB		
21	2	4134	SAFCO	\$253.60	\$507.20
			BR1 - MAGAZINE/BROCHURE RACK - 9 POCK	XETS - 31.75"W X 5"D X 41"H	
22	3	438845	SCHOOL SPECIALTY INC	\$731.00	\$2,193.00
			PAPER RACK HORIZONTAL 8-DECK DELUXE ROLLS	HORIZONTAL PAPER CUTTER	RACK, HOLDS 36 IN
23	23	1011 FT1 A0 US SC8 FG3 C13 FC2 AC	EXEMPLIS (SIT ON IT)	\$231.25	\$5,318.75
			C2 - ADMIN GUEST/CONFERENCE CHAIR - LU WITH PLASTIC BACK CHOOSE SHELL: SLATE SC8 CHOOSE FABRIC: MOTION GRAPHITE CHOOSE FRAME: SILVER	JMIN 4 LEG CHAIR WITH CAS	TERS - FABRIC SEAT
24	41	1011 FT1 A0 PS SC8 GL2 FC2 AC (TBD)	EXEMPLIS (SIT ON IT)	\$117.00	\$4,797.00
			C2.1 - SMALL GROUP-TEACHER LOUNGE CHA	AIR - LUMIN 4 LEG - ARMLESS	- MULTI-SURFACE
			CHOOSE SHELL: SLATE CHOOSE FRAME: SILVER		
25	12	2723 Y A142 FG3 C16 B17 B1 MC6 FC1 KD	EXEMPLIS (SIT ON IT)	\$372.60	\$4,471.20
			C3 - ADMIN TASK CHAIR - HIGH BACK MESH WIDTH ARMS - ENCHANCED SYNCRHO - CAF CHOOSE MESH BACK: NICKEL CHOOSE FABRIC SEAT: MOTION GRAPHITE		JSTABLE AND





QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE		
26	37	1302SF-HG	ERG INTERNATIONAL	\$269.00	\$9,953.00		
			C6 - LIBRARY - MYLO CHAIR 18"H SEAT, SEAT/BACK: APPLE RED FRAME:SILVER BRUSHED ALUMINUM WITH SINGLE HAND GRIP CUTOUT				
27	38	8210	NATIONAL PUBLIC SEATING	\$70.90	\$2,694.20		
			C8 - MUSIC CHAIR - 18" - BLACK SEAT/BLACK FRAME •, 8210.JPG : QTY 1.00				
28	393	1496367	CLASSROOM SELECT	\$79.00	\$31,047.00		
			CHAIR - CS NEOCLASS CANTILEVER - SOFT PLASTIC SH	ELL 18 - CHROME	FRAME -		
			SPECIFY SHELL COLOR: MARINE SPECIFY GLIDE: STEEL				
29	9	76041.613.??1C1	FLEETWOOD	\$614.50	\$5,530.50		
			ILLUSIONS, WALL HUNG CABINET, 1 ADJUSTABLE SHE PULL, CHROME EUROPEAN HINGE. 36"WX24"HX13"E LAMINATE: FUSION MAPLE EDGE: MAPLE		DOORS, CHROME		
30	9	76000.803.??000	FLEETWOOD	\$566.79	\$5,101.11		
			ILLUSIONS, WALL HUNG CABINET, 1 ADJUSTABLE SHELF, NO DOORS. 48"WX30"HX13"D				
			LAMINATE: FUSION MAPLE EDGE: MAPLE •STANDARD COLOR COMBOS-ILLUSIONS COLLECTION	N , ILLSNS_CLRCOI	MBO : QTY 1.00		
31	6	1703G-01	JOY CARPETS	\$649.00	\$3,894.00		
			WHIMZI TEAL 10'9" X 13'2"				
32	1	4417	CARPETS FOR KIDS INC	\$459.70	\$459.70		
			CARPET - GIVE THE PLANET A HUG - 8'X12'				
33	12	1891G	JOY CARPETS	\$649.00	\$7,788.00		
			ROWING MULTI 10'9" X 13'2" SEATS 30				
34	1	1972H	JOY CARPETS	\$174.00	\$174.00		





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			CARPET ROUND - 5'4" DIAMETER FEELING NATURAL CHOOSE: PINE		
35	1	BOOV2	BRETFORD	\$403.00	\$403.00
			BOOK TRUCK, SINGLE SIDED SLANT SHLVS, 14D 36W 44 CHOOSE METAL: BLACK	4H	
36	1	BOOVF21	BRETFORD	\$455.00	\$455.00
			BOOK TRUCK, DBL SIDED COMBO SHLVS, 18D 36W 44F 4 SLANTED SHELVES/1 FLAT TOP SHELF CHOOSE COLOR: BLACK •BOOKTRUCK PAINT COLORS, 1: QTY 1.00	1	
37	20	1357326	CLASSROOM SELECT	\$31.75	\$635.00
			CHAIR - CS CONTEMPORARY FOUR LEG- SOFT PLASTIC	SHELL 12 - CHRO	ME FRAME -
			SPECIFY SHELL COLOR: YELLOW SPECIFY GLIDE: STEEL		
38	144	1496371	CLASSROOM SELECT	\$74.00	\$10,656.00
			CHAIR - CS NEOCLASS CANTILEVER - SOFT PLASTIC SHE	LL 14 - CHROME	FRAME -
			SPECIFY SHELL COLOR: MARINE SPECIFY GLIDE: STEEL		
39	124	1496371	CLASSROOM SELECT	\$74.00	\$9,176.00
			CHAIR - CS NEOCLASS CANTILEVER - SOFT PLASTIC SHE	LL 14 - CHROME	FRAME -
			SPECIFY SHELL COLOR: SAFFRON SPECIFY GLIDE: STEEL		
40	299	1496369	CLASSROOM SELECT	\$76.00	\$22,724.00
			CHAIR - CS NEOCLASS CANTILEVER - SOFT PLASTIC SHE	LL 16 - CHROME	FRAME -
			SPECIFY SHELL COLOR: MARINE SPECIFY GLIDE: STEEL		
41	168	805	NATIONAL PUBLIC SEATING	\$25.43	\$4,272.24
			NPS® 800 SERIES PREMIUM LIGHTWEIGHT PLASTIC FOI FRAME: GREY BACK/SEAT: BLUE •, 805.JPG: QTY 1.00	LDING CHAIR,	





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
2	1	PAS FS17 SS3 UMU XGV LBC3 P1	IDEON	\$1,435.00	\$1,435.00
			CHAIR - LOUNGE - 120 DEGREE INNER SEA	AT WITH GANGING BRACKETS	
			31.5" BACK HEIGHT X 47.5"WIDE X 27"DE	EP	
			BASE: SLATE		
			FABRIC: SEAT: MOMENTUM FAUX FELT LAGOON BACK: MOMENTUM BOOM 11 KLEIN		
13	60	1012 FT3 B A0 US SC8 FG3 C14 B17 FC1 UC	EXEMPLIS (SIT ON IT)	\$279.00	\$16,740.00
			TEACHER CHAIR AT BREAKOUT TABLE - HAPLASTIC BACK - PNEUMATIC HEIGHT ADJU	•	- FABRIC SEAT -
			CHOOSE PLASTIC: SLATE #SC8 CHOOSE FABRIC SEAT: MOTION SAPPHIRE	<u> </u>	
14	2	1573575	ECR4KIDS LP	\$245.40	\$490.80
			CHAIR LADDERBACK AMERICAN OAK 12 II	N - PACK OF 2	
5	9	FC1 2222 F A129 B9 FG3 C17 B0 MC21 TX1 Z1 KD	EXEMPLIS (SIT ON IT)	\$359.75	\$3,237.75
			TASK CHAIR - WIT- MID-BACK WITH ADJU ADJUSTABLE HEIGHT AND WIDTH ARMS - CHOOSE THINTEX BACK: NICKEL CHOOSE FABRIC SEAT: MOTION GRAPHIT	HARD FLOOR/CARPET CASTE	
46	2	1496349	CLASSROOM SELECT	\$56.00	\$112.00
			CHAIR - CS NEOCLASS FOUR LEG - SOFT PI SPECIFY SHELL COLOR: MARINE SPECIFY GLIDE: STEEL	ASTIC SHELL 16 - CHROME FF	AME -
47	2	1496347	CLASSROOM SELECT	\$59.00	\$118.00
			CHAIR - CS NEOCLASS FOUR LEG - SOFT PI SPECIFY SHELL COLOR: MARINE SPECIFY G		AME -





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
48	3	2723 Y A142 FG3 C16 B17 B1 MC6 FC1 KD	EXEMPLIS (SIT ON IT)	\$372.60	\$1,117.80
			ADMIN TASK CHAIR - HIGH BACK MESH - FAB ARMS - ENCHANCED SYNCRHO - CARPET CAS CHOOSE MESH BACK: NICKEL CHOOSE FABRIC SEAT: MOTION SAPPHIRE		TABLE AND WIDTH
49	2	1011 FT1 A0 US SC8 FG3 C13 FC2 AC	EXEMPLIS (SIT ON IT)	\$219.00	\$438.00
			ADMIN GUEST/CONFERENCE CHAIR - LUMIN WITH PLASTIC BACK CHOOSE SHELL: SLATE SC8 CHOOSE FABRIC: MOTION SAPPHIRE CHOOSE FRAME: SILVER	4 LEG CHAIR WITH CASTEI	RS - FABRIC SEAT
50	1	ENA-2529-G4-4D	MEDIA TECHNOLOGIES	\$1,204.00	\$1,204.00
			ENGAGE LOUNGE CHAIR 25"W X 29"D X 29"H	i, ARMLESS, 4 DUO LEGS S	SILVER
			FABRIC: MOMENTUM GRAPH LAPIS		
51	6	1482907/1370036 /011179	SCHOOL SPECIALTY	\$200.68	\$1,204.08
			BRUTE ROUND STORAGE CONTAINERS - 44 G - FOR BALL STORAGE	ALLON - INCLUDES LID AN	D CONVERSION DOLLY
52	3	3713-16?	CLINTON INDUSTRIES	\$1,043.90	\$3,131.70
			HEALTH ROOM - RECOVERY COT 72"L X 27"W DRAWERS & AJDUSTABLE HEADREST - LAMINATE: #1MP MAPLE. VINYL: GUNMETAI PULLS: 5C SILVER WIRE		L OUT STORAGE
53	55	21090	SMITH SYSTEM	\$452.00	\$24,860.00
			CT1 - CLASSROOM CART - 2 SHELF - 6" DEEP S	SHELVES - 4" CASTERS - 18	"D X 36"W X 36"H
			CHOOSE METAL: BLACK		
54	40	22.RS63- 47856/MDP6014/ 28.7006/MP301	FLEETWOOD	\$1,433.59	\$57,343.60





QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			D1 - TEACHER DESK - 30X60 - ADJUSTABLE HEIGH MODESTY PANEL. WITH CENTER PENCIL DRAWER WITH MOBILE BOX/BOX/FILE LAMINATE PEDESTA SQUARE CORNERS CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE PULLS: SILVER	R - WITH 2 GROMMETS	-
55	39	TBD-478390	FLEETWOOD	\$1,379.00	\$53,781.00
			D1.1 - TEACHER PODIUM/TABLE - PNEUMATIC HI 24"W CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE	EIGHT ADJUSTABLE 29	-42" SIDE 30"D X
56	1	WG319163	GLOBAL INDUSTRIAL	\$1,716.54	\$1,716.54
			D3 - WORKBENCH DESK - CUSTODIAN - 30"D X 60 BLOCK TOP - INCLUDES 15"D LOWER SHELF, 6"H I BIN RAIL, PEGBOARD PANEL MOUNTING KIT, CAN ARM MOUNT FRAME: BLUE	DRAWER, 12"H DRAW	ER,48"H UPRIGHTS,
57	30	24-687-057	ERGOTRON	\$365.75	\$10,972.50
			D5 - STUDENT DESK - SIT-TO-STAND. 30" X 20" CHOOSE COLORS: TOP: FUSION MAPLE FRAME: GREY		
58	120	22.PR5200UGR.2B H1000(2)	FLEETWOOD	\$524.35	\$62,922.00
			DOUBLE STUDENT DESK ADJ - 54"WX24-32"HX24"D RECTANGLE STEEL SQUARI CORNERS AND 3MM EDGE BAND ADJUSTABLE H 75MM CASTERS AND LEVELERS). WITH TWO BAC SHELF	IEIGHT 24-32", WHEEL	BARROW (LOCKING
			CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE		





QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

# Q	TY PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
59 4	4 22.PR30- 48055.BH1000 (1)BBMT100(1)	FLEETWOOD	\$345.00	\$15,180.00
		SINGLE STUDENT DESK ADJUSTABLE SQUARE LEGS (4), 3/4" TOP WITH R HEIGHT 24-32", WHEELBARROW (LO BACKPACK HOOK & ONE SOLID BOO	OUNDED CORNERS AND 3MM EDG OCKING 75MM CASTERS AND LEVEL	BAND ADJUSTABLE
		CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-DESK TO 24X27		NL1 : QTY 1.00 MOD
60 2:	.3 22.PR6200AG/BH 1000(2)	FLEETWOOD	\$409.45	\$87,212.85
		PLANE DESK DOUBLE, 60"WX24"DX ROUNDED CORNERS AND 3MM EDO (LOCKING 75MM CASTERS AND LEV	GE BAND, ADJUSTABLE HEIGHT, WH	EELBARROW
		SPECIFY LAMINATE: FUSION MAPLE SPECIFY EDGE: FUSION MAPLE SPECIFY FRAME: SILVER		
61 3	ST.TR4181AE	FLEETWOOD	\$363.65	\$1,090.95
		TRIANGLE DESK, STEEL SQUARE LEG ROUNDED CORNERS AND 3MM EDO WITH LOCKING CASTERS LAMINATE: FUSION MAPLE EDGE: MAPLE FRAME: GRAPHITE		
62 6	4 2003505	SCHOOL SPECIALTY	\$8.02	\$513.28
		RECTANGLE RECYCLING WASTE BAS	KET, 28 QT, 15 X 10.5 X 15 PLASTIC,	BLUE
63 6	4 2003500	SCHOOL SPECIALTY TRASH WASTEBASKET 28 QT BLACK	\$8.02 - 15 X 10.5 X 15	\$513.28
	. 074588	BIRD IN HAND	\$388.00	\$388.00





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

# QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
5 6	085987	COPERNICUS EDUCATIONAL PRODUCTS	\$283.60	\$1,701.60
		EASEL MAGNETIC PRIMARY TEACHING 30X30X 56	-	
6 1	296312	SCHOOL SPECIALTY	\$245.90	\$245.90
		KIT EASEL ADJUSTABLE ART DRY ERASE WITH DRYI	NG RACK	
7 13	1300060	COPERNICUS EDUCATIONAL PRODUCTS	\$284.50	\$3,698.50
		REGAL READING & WRITING CENTER - 56.5"H X 31 FRONT MAGNETIC DRY-ERASE BOARD, 29 W X 29 I BOARD, 24 W X 31 H INCHES. FOUR SLIDING OPEN FOUR 3 INCH CASTERS AND 2 FOOT-ACTIVATED BR	H INCHES. REAR REM TUBS AND ADJUSTA	
8 41	72453.004.XX110	FLEETWOOD	\$1,555.00	\$63,755.00
		F1 - TWO DRAWER LATERAL FILE - 30"W X 30"H X CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE PULLS: SILVER	26"D - WITH LOCKIN	G DRAWERS
9 3	PN22MBF/PN1622 CU	GLOBAL	\$564.48	\$1,693.44
		F2 - MOBILE BOX/FILE LAMINATE PEDESTAL WITH LOCKING DRAWERS CHOOSE LAMINATE: WALNUT HEIGHT #WHE PULL: SQUARE-SATIN ALUM (SILVER) FABRIC: STATION CHARCOAL #SN91 CHOOSE EDGE SILVER DRAWER PULLS	CUSHION TOP. 16"W	/ X 24.5"H X 22"D -
0 3	A2036FF	GLOBAL	\$686.08	\$2,058.24
		F4 - LATERAL FILE - 2 DRAWER - LAMINATE 36'WID CHOOSE COLORS: WALNUT HEIGHTS #WHE PULLS: PROFILE: SQUARE-SATIN ALUM(SILVER)	DE - (BOOKCASE ON T	OP)
1 1	9342-4F1H	GLOBAL	\$773.76	\$773.76
		FOUR DRAWER LATERAL FILE - 42"W X 18"D X 54"I	Н	
		CHOOSE METAL:CHARCOAL CGR		
	A2036FF	GLOBAL	\$686.08	\$1,372.16
2 2	AZUJUFF			





QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
73	41	016788/016794	SCHOOL SPECIALTY INC	\$8.46	\$346.86
			FLAG W/STAFF US 16 X 24 AND WALL A	TTACHED FLAG BRACKET	
74	1	031400/592010/1 45790	ANNIN	\$429.00	\$429.00
			SET INCLUDES:FLAG US INDOOR 3 X 5 SE WASHINGTON INDOOR 3X5, FLAG MOU	•	FRINGED,FLAG
75	6	1473313	SCHOOL SPECIALTY	\$316.29	\$1,897.74
			HKC - GENUINE JOE INDUSTRY LIGHT GENEASURING 30-3/4 IN X 55-5/8 IN X 38 HEAVY-DUTY APPLICATIONS IN HEALTH BUILDINGS AND MORE. THIS ZIPPERED ORGANIZE TOOLS THAT CAN ALSO ACCOMANAGERS. IT COMES WITH GENUINE DESCRIPTION OF THE STATE OF THE ST	IN FEATURES OVERSIZED WHEE CARE, AIRPORTS, CONVENTION VINYL BAG IS DESIGNED TO ACCOMPLISH THE REQUIREMENTS C	LS AND CASTERS FOR CENTERS, OFFICE OMMODATE AND OF TODAYS FACILITIES
76	1	INSTALLATION	SCHOOL SPECIALTY INC	\$90,909.00	\$90,909.00
			INSTALLATION - INCLUDES RECEIVING, A REMOVAL OF ALL DEBRIS - INSTALLATIO	,	
77	2	1497601	SCHOOL SPECIALTY	\$877.50	\$1,755.00
			KIT KITCHEN MODERN 3 PIECE SET INCLUDES SINK & DISHWASHER COMBO), REFRIGERATOR & STOVE-MICI	ROWAVE COMBO
8	1	1491193	BIRD IN HAND	\$520.95	\$520.95
			KITCHEN CENTER 5 IN 1 SEE THRU - INC MICROWAVE AND HUTCH WITH SEE-TH CHEFS! UNIQUE PASS-THROUGH DESIGN BOTH SIDES. DURABLE, LAMINATE COUL ASSEMBLY REQUIRED. FULL UNIT MEAS	ROUGH CAPABILITY TO KEEP AN N AND DRY-ERASE BACK PANELS NTER EASILY WIPES CLEAN. SIM	I EYE ON THOSE LITTLE ALLOW FOR PLAY ON PLE HARDWARE
79	1	250122	SCHOOL SPECIALTY	\$758.00	\$758.00
			KIT KITCHEN KFK SINK STOVE HUTCH RE	FRIGERATOR SET OF 4	
30	1	071972	BIRD IN HAND	\$513.60	\$513.60
			KITCHEN CENTER ALL IN ONE 27"H X 16"L X 43.5"W		
81	1	1386210	BIRD IN HAND	\$216.75	\$216.75
			QS KITCHEN HUTCH TRADITIONAL - 40"I	H X 13 375"D X 24"W	





QUOTATION: PBD2019015698

HOOL			

GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
82	1	1576274	SCHOOL SPECIALTY	\$280.85	\$280.85
			KIT PATIO GRILL AND GRILLING UTENSILS		
83	1	1568771	SCHOOL SPECIALTY	\$358.00	\$358.00
			KIT MARKET STAND WITH CANOPY WITH 3 BASKET	-s	
84	5	VS LS12 LS12 FCW1 FG8 P1	IDEON	\$1,210.75	\$6,053.75
			LOUNGE CHAIR - ARMLESS		
			CHOOSE FABRIC SEAT & BACK: CF STINSON SUPERS SQUARE TAPERED FEET: CLEAR MAPLE #S1	SILLYNESS #63285 SA	ALTWATER
85	3	FLX-2710	MIEN COMPANY	\$1,186.00	\$3,558.00
			L4 - FLEX CURVED BENCH 60?, 20" X 18H, 4" WOOL	DEN FEET	
			CHOOSE FEET COLOR: MAPLE CHOOSE FABRIC: MOMENTUM PING PLACID		
86	25	25GY	CONTINENTAL COMMERCIAL PRODUCTS LLC	\$79.00	\$1,975.00
			RECEPTACLE TRASH 25 GALLON SQUARE SWINGLIN	NE SERIES - GREY	
37	2	2005486	SCHOOL SPECIALTY	\$153.00	\$306.00
			SHIRLEY K'S WHEELED STORAGE CONTAINER WITH GRAY HEAVY DUTY STORAGE BINS ARE DESIGNED TO WI' ENVIRONMENTS. MANUFACTURED WITH HIGH DE INORGANIC CHEMICALS AND UV DAMAGE. THE LIE HASPS TO ENSURE CONTENT SECURITY. HEAVY DU' ASSIST WITH MOBILITY ALLOWING THE CONTAINE	THSTAND HEAVY US NSITY POLYETHYLEN OS ARE SECURED WIT TY CASTERS WITH AI	E IN A VARIETY OF E, THEY RESIST TH STAINLESS STEEL DJUSTABLE LOCKS
88	6	ENA-2529-G3-4D	MEDIA TECHNOLOGIES	\$1,326.00	\$7,956.00
			ENGAGE LOUNGE CHAIR 25"W X 29"D X 29"H, ARN	MLESS, 4 DUO LEGS	
			CHOOSE VINYL: CF STINSON SUPERSILLYNESS #632 •GRADE 3 FABRIC, GRADE 3 FABRIC: QTY 1.00 •POWDER COAT, POWDERCOAT: QTY 1.00 •, ENGAGENOARMS-ENA-2529.JPG: QTY 1.00	85 SALTWATER	





QUOTATION: PBD2019015698

GOOD UNTIL: 4/26	/2019
HOOL	

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			FULL TIME OTTOMAN, 30"DIAMETER X 18"H, ROUND	, WITH LEGS	
			CHOOSE VINYL: MOMENTUM GRAPH PARROTT •GRADE 3 FABRIC , GRADE 3 FABRIC : QTY 1.00 •, FTD-36_FULLTIMEROUND.JPG : QTY 1.00		
90	14	FK007-Z	FOMCORE LLC	\$92.80	\$1,299.20
			LILY PAD PILLOW - 18" DIAMETER X 3"HIGH		
			CHOOSE VINYL: SILVERTEX CREME DE MENTHE		
91	1	FK009CART	FOMCORE LLC	\$247.50	\$247.50
			LILY PAD TROLLEY CART - 20"DIAMETER X 34" HIGH HOLDS 10 LILY PADS		
92	1	LOCKERS 3T/4	KC BIN (REPUBLIC STORAGE)	\$1,892.85	\$1,892.85
			ONE LOT OF LOCKERS -TRIPLE TIER -RUN OF FOUR - E OVERALL FOOTPRINT IS 48"W X 72"H X 12"D. ON BASE/FLAT TOP	EACH OPENING IS	12"W X 12"D X 24"H.
			CHOOSE COLOR: MIDNIGHT BLUE 61		
93	2	012168	SCHOOL HEALTH CORP	\$412.00	\$824.00
			DELUXE TEACHING MAT - 4X8 X 2 3/8"THICK - 2 FOOT SOLID BLUE	T PANELS - HOOK 8	& LOOP 4 SIDES -
94	16	1015919	SCHOOL SPECIALTY	\$369.97	\$5,919.52
			SPORTIME 1-3/8 IN POLYETHYLENE 5 X 10 FT SUPER-IEXPAND-O-MAT IS A1-3/8 IN THICK, CROSSLINK, POLYGENERAL FLOOR PLAY AND TUMBLING, AND IS THE SPHYSICAL EDUCATION PROGRAMS. THE MAT'S 18 OU SUPER DURABLE. MAT FEATURES 1 FT PANELS AND HIBLUE/YELLOW	YETHYLENE FOAM TANDARD OF THE NCES VINYL-COAT	MAT USED FOR INDUSTRY FOR ED NYLON COVER IS
95	1	019177	SCHOOL SPECIALTY	\$209.99	\$209.99
			MAT MOVER STORAGE CART - 66 X 7 X 22		
96	2	678775	NATIONAL PUBLIC SEATING	\$202.80	\$405.60
			CHAIR DOLLY FOR NPS 8210 MELODY CHAIRS HOLDS	18	





QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
97	6	PN22MBF/PN1622 CU	GLOBAL	\$564.48	\$3,386.88
			F2 - MOBILE BOX/FILE LAMINATE PEDESTAL WITH LOCKING DRAWERS CHOOSE LAMINATE: CLEAR MAPLE #CMB PULL: SQUARE PROFILE/SATIN ALUM (SILVER) FABRIC: STATION CHARCOAL #SN91 CHOOSE EDGE SILVER DRAWER PULLS	CUSHION TOP. 16"W	/ X 24.5"H X 22"D -
98	8	PCR3	AMTAB MFG CORP	\$1,535.00	\$12,280.00
			MR1 - MUSIC RISER - 3 STEP WITH BACK RAILS - TA ADD TWO SIDE RAILS CHOOSE CARPET: GREY CHOOSE METAL: BLACK	APERED	
99	19	WR86-2436C	QUANTUM STORAGE	\$243.00	\$4,617.00
			MS1 - METAL SHELVING - 24"D X 36"W X 86"H CHOOSE 4 OR 5 SHELVES CHROME		
100	15	WR86-2448C	QUANTUM STORAGE	\$279.00	\$4,185.00
			MS2 - METAL SHELVING - 24"D X 48"W X 86"H CHOOSE 4 OR 5 SHELVES CHROME		
.01	30	82 MS	NATIONAL PUBLIC SEATING	\$45.65	\$1,369.50
			MUSIC STAND - 12.75WX20LX24-46H -READING SEEDGES	ERVICE TILTS - BLACK	22 GA STEEL - ROLLED
L02	2	DYMS 20	NATIONAL PUBLIC SEATING	\$368.45	\$736.90
			CART - MOBILE CART HOLDS 24 - 82MS MUSIC STA	ANDS	
03	17	785P	MOORECO INC	\$428.00	\$7,276.00
			NEST EASEL, 65 - 72 IN H X 31-1/2 IN W X 24 IN D, PORCELAIN - LOCKING CASTERS	SILVER POWDER COA	ATED STEEL,
104	1	1327646	SCHOOL SPECIALTY	\$569.60	\$569.60





DATE: 3/25/2019 QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			NESTING BENCHES - SET OF 4 WITH SMALLEST BE FOOTREST OR TO PRACTICE STEPPING UP AND DO BENCHES HAVE FIXED HEIGHTS AND WIDE BASES SUITABLE SEATS FOR THERAPISTS OR LARGE CHIL PACK. AVAILABLE SIZES IN 14 L X 11 -3/4 W X 4 D IN, 18 W X 11-1/2 D IN, 27-1/2 L X 11-3/4 W X 18 D IN,	OWN OR AS A SEAT FO WHILE TWO LARGEST DREN AND ADOLESCE -1/2 L X 11-3/4 W X 6-	OR INFANTS. NESTING BENCHES ARE NTS. SOLD AS4 PER
105	1	AM-SX-1060	ARMEDICA MANUFACTURING CORP	\$2,066.25	\$2,066.25
			HIGH LO CHANGING TABLE PEDIATRIC 60 IN	, , , , , ,	, ,
			SPECIFY VINYL: GREYSTONE		
106	1	DUO-0030OTUS- 18-G4	MEDIA TECHNOLOGIES	\$941.40	\$941.40
			DUO OTTOMAN, 30"DIA X 18"H,		
			CHOOSE LAMINATE: FORMICA AMBER MAPLE/M FABRIC: MOMENTUM GRAPH PARROTT	APLE EDGE	
107	3	032703	SCHOOL SPECIALTY INC	\$475.00	\$1,425.00
			ACCO CLASSICCUT PAPER CUTTER, 30 INCH CUT, ASSURES A CLEAN, PRECISE CUT OF UP TO 15 SHE HANDLE LOCK. PRECISION GRID IS SCORED EVERY OVERALL DIMENSIONS: 31 X 30-1/4 X 3/4 INCHES	EETS. INCLUDES FINGE / HALF-INCH. LIMITED	R GUARD AND
108	1	032697	SCHOOL SPECIALTY INC	\$178.50	\$178.50
			QUARTET SWINGLINE CLASSICCUT INGENTO PAP CAPACITY 15 SHEETS THE INGENTO GUILLOTINE STYLE PAPER CUTTER BASE TO DELIVER DEPENDABLE AND LONG-LASTI CARBON SPRING STEEL BLADE FOR A CLEAN AND	IS CONSTRUCTED WIT	H A SOLID MAPLE
109	2	PCSR3	AMTAB MFG CORP	\$594.00	\$1,188.00
			MOBILE E-Z RISER - SIDE RAIL - PCR3 ACCESSORY	- 36"H X 52"L	
L10	3	48RN21	GRAINGER	\$94.70	\$284.10
			HARDWOOD PEGBOARD PANEL KIT WITH 25 LB.	LOAD CAPACITY, 48"H	X 24"W, WHITE, 1 EA
111	1	600489	SAFCO	\$355.00	\$355.00
			ART RACK - 29"H X 24.5"L X 36"W		





QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
L12	2	84	NATIONAL PUBLIC SEATING	\$346.78	\$693.56
			NPS® DOUBLE-TIER HANGING CHAIR TRUCK - 84 CHAIR CAPACITY •, 84-DOLLY-LOADED.JPG : QTY 1.00	67" X 33.25" X 70"	
L 13	1	4202	SAFCO	\$480.73	\$480.73
			NAIL HEAD COAT HOOK-6 HOOK, SILVER - 36" 6 PER CARTON	W X 2.75"D X 2"H	
			NOTE: INSTALL 1 INTO ROOM #1350 CLOSET TWO EXTRA - LOCATION TBD BY DISTRICT		
114	4	1011 FT1 AO PS SC8 GL2 S9 FC2 AC	EXEMPLIS (SIT ON IT)	\$184.80	\$739.20
			S2 - LUMIN COUNTER/BAR STOOL - PLASTIC S HEIGHT 24" - MULTI-SURFACE GLIDES - CHOOSE SHELL COLOR: SLATE FRAME: SILVER	EAT & BACK - SILVER FRAI	ME - ARMLESS - BAR
115	1	1011 FT1 A0 PS SC8 GL2 S2 FC2 AC	EXEMPLIS (SIT ON IT)	\$212.00	\$212.00
			S18- CHAIR - LUMIN STOOL BISTRO 30IN- MU	LTI-SURFACE GLIDES	
			SPECIFY SHELL: SLATE SPECIFY FRAME: SILVER		
116	1	FC1 2222 B A129 B9 FG3 C17 S1 B0 MC21 TX1 Z1 KD	EXEMPLIS (SIT ON IT)	\$391.00	\$391.00
			CUSTODIAN TASK STOOL - WIT. THINEX BACK WITH STOOL RING - MULTI-FUNCTION ARMS THINEX BACK: NICKEL SEAT: MOTION GRAPHITE	S,VINYL SEAT, CARPET/HA	rd floor Caster -
17	3	157F091	WENGER	\$1,040.30	\$3,120.90
			S8 - CONDUCTOR'S CHAIR - SWIVELS, PNEUM, CHOOSE COLOR: BLACK	ATIC HEIGHT ADJUSTMEN	Т.
L 18	1	296630	SCHOOL SPECIALTY	\$739.98	\$739.98
			QS KIT SAND AND WATER TABLE CC WITH CLE	AR TUB - SHELF AND COV	ER
L 19	2	049142	SCHOOL SPECIALTY	\$48.52	\$97.04





QUOTATION: PBD2019015698

GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			SCOOTER STACKER FEATURES ULTRA-GLIDE CASTEASY ROLLING. THE CENTER POLE ALLOWS THE UNION SCOOTERS THAT HAVE CENTER HOLES. THE ALLOWS YOU TO EASILY PULL A FULL STACK OF SPOLYPROPYLENE FOR DURABILITY. KEEP YOUR STORAGE ROOM CLEAN AND YOUR STONY STORY ATTACHES EASILY TO THE HANDLES HEAVY DUTY CASTERS ROLL WITH EASE	USER TO HOLD UP TO SERE IS A45 INCH LONG SCOOTERS. THE BASE IS	IXTEEN 12 AND 16 TOW STRAP THAT MADE OF TOUGH
120	2	PAS FS17 SS2 UMU XGV LBC3 P1	IDEON	\$1,007.40	\$2,014.80
			CHAIR - 1.5 CHAIR - WITH BACK - ON BASE PASEA SERIES		
			31.5"H BACK X 36"WIDE X 27"DEEP WITH 2 GANGING BRACKETS		
			CHOOSE FABRIC: SEAT: MOMENTUM FAUX FELT LAGOON BACK: MOMENTUM BOOM 11 KLEIN CHOOSE BASE: SLATE		
21	3	238D001	WENGER	\$236.11	\$708.33
			ST2 - CONDUCTOR'S MUSIC STAND - PREFACE - I	OOUBLE - ADJUSTABLE	- BLACK
22	16	1570231	SCHOOL SPECIALTY INC	\$75.89	\$1,214.24
	STEP STOOL -THREE-STEP STOOL WITH A 225 LB. LOAD CAPACITY FEATURES A FOLD, DESIGN FOR EASY STORAGE BETWEEN USES. LARGE TOP STEP PROVIDES A WIDE SU AREA TO ENSURE STABLE FEET PLACEMENT. SLIP-RESISTANT FEET INCREASE THE AM FRICTION ON SMOOTH SURFACES TO PREVENT THE LADDER FROM SLIDING DURING SAFETY HANDRAIL PROVIDES A HANDY WAY TO KEEP YOU BALANCED AS YOU WORK LIGHTWEIGHT DESIGN IS EASY TO CARRY FOR EFFORTLESS TRANSPORTATION FROM LOCATION TO LOCATION.		S A WIDE SURFACE EASE THE AMOUNT OF DING DURING USE. AS YOU WORK.		
123	2	9685SS	SAFCO	\$98.50	\$197.00
			ROUND STEP-ON RECEPTACLE-4 GAL., STAINLESS	SSTEEL	
24	20	JFF-H00-12-GREEN	MIEN COMPANY	\$100.00	\$2,000.00
			BALANCING STOOL 12" SEAT HEIGHT COLOR: GREEN		





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

SHIP TO:	
DES MOINES ELEMENTARY SCHOOL	
22001 9TH AVE SOUTH	
DES MOINES, WA 98198	
	DES MOINES ELEMENTARY SCHOOL 22001 9TH AVE SOUTH

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
125	20	JFF-H00-12- ORANGE	MIEN COMPANY	\$100.00	\$2,000.00
			BALANCING STOOL 12" SEAT HEIGHT COLOR: ORANGE		
126	20	JFF-H00-12-RED	MIEN COMPANY	\$100.00	\$2,000.00
			BALANCING STOOL 12" SEAT HEIGHT COLOR: RED		
127	46	JFF-H00-15-RED	MIEN COMPANY	\$104.00	\$4,784.00
			BALANCING STOOL 15" SEAT HEIGHT COLOR: RED		
128	2	2102	CLINTON INDUSTRIES	\$140.00	\$280.00
			STOOL - NURSE - 14" SEAT DIAMETER - 18.5"- MOBILE, VINYL COLOR: GUNMETAL	25.5" SCREW HT ADJUSTI	MENT CHROME BASE,
129	36	JFF-H00-18-RED	MIEN COMPANY	\$108.00	\$3,888.00
			BALANCING STOOL 18" SEAT HEIGHT COLOR: RED		
130	46	JFF-H00-15-GREEN	MIEN COMPANY	\$104.00	\$4,784.00
			BALANCING STOOL 15" SEAT HEIGHT COLOR: GREEN		
131	46	JFF-H00-15- ORANGE	MIEN COMPANY	\$104.00	\$4,784.00
			BALANCING STOOL 15" SEAT HEIGHT COLOR: ORANGE		
132	36	JFF-H00-18-GREEN	MIEN COMPANY	\$108.00	\$3,888.00
			BALANCING STOOL 18" SEAT HEIGHT COLOR: GREEN		
133	36	JFF-H00-18- ORANGE	MIEN COMPANY	\$108.00	\$3,888.00
			BALANCING STOOL 18" SEAT HEIGHT COLOR: ORANGE		





DATE: 3/25/2019 QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
134	36	FF005ROK	FOMCORE LLC	\$278.40	\$10,022.40
			FOM-ROK - 18" X 18" X 18" ROUND STOOL - ROCKING CHOOSE VINYL: SILVERTEX BAZAAR #STX-8837		
135	5	1577199	SCHOOL SPECIALTY	\$516.95	\$2,584.75
			KIT CUBBY FOLDER AND 20 TRAY MOBILE WITH	CLEAR TRAYS	
			47.75"W X 13"D X 42"H		
136	2	1444399	SCHOOL SPECIALTY	\$269.50	\$539.00
			KIT CUBBY 12 TRAY TODDLER MOBILE WITH CLI	EAR TRAYS	
137	1	202824	SCHOOL SPECIALTY	\$593.30	\$593.30
			KIT HIDEAWAY SUPER SIZE STORAGE		
138	1	A3665VSL	GLOBAL	\$1,160.98	\$1,160.98
			STORAGE - 2 DRAWER LATERAL FILE WITH STOF 20"D X 65"H - CHOOSE LAMINATE: CLEAR MAPLE PULLS: SQUARE PROFILE - SILVER COLOR	RAGE CABINET ABOVE -	ADJ SHELVES 36"W X
139	4	1496367	CLASSROOM SELECT	\$79.00	\$316.00
			C18.1- CHAIR - CS NEOCLASS CANTILEVER - SOF	T PLASTIC SHELL 18 - CH	IROME FRAME -
			SPECIFY SHELL COLOR: SAFFRON SPECIFY GLIDE	: STEEL	
140	14	15004B2-DB	TENJAM	\$402.19	\$5,630.66
			L1 - STUDENT SOFT STOOL - PENTAGON DURAF FOOT COLOR: DARK BLUE	LEX LOUNGE - 22"W X 1	.9.5"L X 17.5"H - 2"
			•DURAFLEX STANDARD COLORS , DURAFLEX ST	FANDARD COLORS : QTY	1.00





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
141	14	15004B2-LG	TENJAM	\$402.19	\$5,630.66
			L1 - STUDENT SOFT STOOL - PENTAGON DURA FOOT COLOR: LIME GREEN	FLEX LOUNGE - 22"W X 1	9.5"L X 17.5"H - 2"
			•DURAFLEX STANDARD COLORS , DURAFLEX S	TANDARD COLORS : QTY	1.00
142	14	15004B2-MB	TENJAM	\$402.19	\$5,630.66
			L1 - STUDENT SOFT STOOL - PENTAGON DURA FOOT COLOR: MEDIUM BLUE	FLEX LOUNGE - 22"W X 1	9.5"L X 17.5"H - 2"
			• DURAFLEX STANDARD COLORS , DURAFLEX S	TANDARD COLORS : QTY	1.00
143	1	1580574	SCHOOL SPECIALTY	\$1,146.50	\$1,146.50
			SOUTHPAW STANDARD GLIDER BOLSTER SWIN	NG - 6'L X 1.5'W	
144	2	SWP503	GLOBAL	\$1,053.46	\$2,106.92
			T10 - SWAP TABLE 42" ROUND - INCLUDES GRE	BTP42 ROUND TOP AND	ROUND BASE
			SPECIFY LAMINATE TOP/EDGE: SLATE #SOG SPECIFY LEG FINISH: CHARCOAL		
145	3	MZM TT6 FCW1 TZ21 TH16 TE1 LSL2 P7	IDEON	\$585.00	\$1,755.00
			T16 - END TABLE -ROUND - 21" DIAMETER X 1 CHOOSE WOOD STAIN: CLEAR MAPLE #S1	6"H - SQUARE EDGE - TA	PERED SQUARE LEGS -
146	1	SWP521	GLOBAL	\$2,618.30	\$2,618.30
			T18 - CONFERENCE TABLE - BOAT SHAPED - 48 DISC BASES CHOOSE LAMINATE: WALNUT HEIGHT #WHE CHOOSE EDGE: WALNUT HEIGHTS CHOOSE METAL: CHARCOAL	"W X 120"W	





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
47	56	ACB8DR.?	AMTAB MFG CORP	\$889.00	\$49,784.00
			T2 - CONVERTIBLE BENCH UNIT 8FT DYNA DEVICE - PLYWOOD CORE	ROCK EDGE PAINTED FRAME	WITH COUPLING
			LAMINATE TOP/BENCH: FUSION MAPLE EDGE: BLACK FRAME: BLACK		
48	1	8720-A-055	CLINTON INDUSTRIES	\$534.82	\$534.82
			T21 - NURSE SIDE TABLE - MOBILE - 18"L X ADJUSTABLE SHELF - LOCKING CHOOSE LAMINATE: MAPLE W/SILVER PUI		k DOOR - 1
.49	32	22.PR3000AGR.BH 1000(1)	FLEETWOOD	\$299.30	\$9,577.60
			T3 - SINGLE STUDENT TABLE - 24" X 30" X 30 SQUARE LEGS. 2 LOCKING CASTERS & 2 GI		
			CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE		
50	10	FN.PR6380BKA	FLEETWOOD	\$690.35	\$6,903.50
			FLIP & NEST TABLE, STEEL SQUARE I-LEG, F AND 3MM EDGE BAND, ADJUSTABLE HEIG 60"WX30"DX 25"-32"HIGH CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-TABLES, SU	HT, LOCKING 75MM CASTER	S.
51	3	FN.PR4280BKA	FLEETWOOD	\$632.26	\$1,896.78
			FLIP & NEST TABLE, STEEL SQUARE I-LEG, F AND 3MM EDGE BAND, ADJUSTABLE HEIG 48"WX24"D X 25-32"HIGH	·	
			CHOOSE LAMINATE: FUSION MAPLE		
			CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-TABLES, SU	RFACE_MATERIAL5 : QTY 1.0	00





QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			FLIP & NEST TABLE, STEEL SQUARE I-LEG, 1" BAND, ADJUSTABLE HEIGHT, LOCKING75MM 60"WX24"D X 25-32"HIGH CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-TABLES, SUR	I CASTERS.	
153	1	MS.RS6305CFA.??	FLEETWOOD	\$721.00	\$721.00
			T9 - ART CLASSROOM TABLE - 30" X 60" X AI CORNERS/SQUARE LEG LOCKING CASTERS.	DJUSTABLE HEIGHT 34-42"h	1. ROUNDED
			CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE		
154	2	22.PR6300AER	FLEETWOOD	\$448.00	\$896.00
			PLANE TABLE, 30"W X 60"L X 24-32" STEEL S CORNERS AND 3MM EDGE BAND, ADJUSTAE -32"HX30"D LAMINATE: FUSHION MPALE EDGE: MAPLE FRAME: GRAPHITE • SURFACE MATERIAL CHOICE-DESKS AND TO	LE HEIGHT, LOCKING 75MI	M CASTERS. 60"WX24
155	1	22.PR7600AER	FLEETWOOD	\$512.30	\$512.30
			PLANE TABLE, 36"W X 72"L X ADJ HT LEGS -: ROUNDED CORNERS AND 3MM EDGE BAND 72"WX24-32"HX36"D LAMINATE: FUSION MAPLE EDGE: MAPLE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-DESKS AND T.	ADJUSTABLE HEIGHT, LOC	KING 75MM CASTERS.





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

# QT	Y PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
156 12	BR.HS6780BCR??	FLEETWOOD	\$735.00	\$8,820.00
		HORSESHOE GROUP TABLE, STEEL ROUNI 3MM EDGE BAND, ADJUSTABLE HEIGHT,	` "	
		LAMINATE: FUSION MAPLE EDGE: MAPLE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-TABLES, S	URFACE_MATERIAL3 : QTY 1.(00
L57 44	BR.KD7680BER	FLEETWOOD	\$729.00	\$32,076.00
		KIDNEY GROUP TABLE, STEEL ROUND LEGEDGE BAND, ADJUSTABLE HEIGHT, WITH 72"WX24-32"HX36"D	• • • •	CORNERS AND 3MM
		CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-TABLES, S	URFACE_MATERIAL3 : QTY 1.0	00
158 112	2 IN.W83080AGR	FLEETWOOD	\$278.80	\$31,225.60
		STUDENT WEDGE DESK - SINGLE 24"D X WITH ROUND LEGS WITH WHEELBARROV		
		LAMINATE: FUSION MAPLE EDGE: MAPLE FRAME: GRAPHITE		
159 12	B3060T-A-TRAP	MEDIA TECHNOLOGIES	\$928.00	\$11,136.00
		LIBRARY TABLE - TRAPEZOID - BOOKMAR 30X30X60 X 29"H - WOOD SQUARE EDGE	-	IATE TOP
		CHOOSE COLORS: TOP: FORMICA AMBER MAPLE TRIM: WOOD NATURAL MAPLE LEGS: WOOD NATURAL MAPLE		





GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
160	1	FTDT-36	MEDIA TECHNOLOGIES	\$1,200.00	\$1,200.00
			FULL TIME OTTABLE - 36"DIA X 18"H, ROUND WITH S	STEEL POST LEGS	
			CHOOSE LAMINATE TOP: FUSION MAPLE/MAPLE EDICHOOSE VINYL/FABRIC BASE: MOMENTUM HOP ALL •GRADE 2 FABRIC , GRADE 2 FABRIC : QTY 1.00 •POWDER COAT , POWDERCOAT : QTY 1.00 •, FTD-36_FULLTIMEROUND.JPG : QTY 1.00		
161	3	1496694	CLASSROOM SELECT	\$285.25	\$855.75
			TABLE - CS APOLLO ACTIVITY RECTANGLE 36X60 - BL TOP COLOR - SPECIFY TABLE HEIGHT - LOW LEGS15-	•	PPER LEG - SPECIFY
			TOP: FUSION MAPLE EDGE/UPPERS: BLACK		
162	2	1496697	CLASSROOM SELECT	\$226.45	\$452.90
			TABLE - CS APOLLO ACTIVITY ROUND 36 - BLACK LOC COLOR - SPECIFY TABLE HEIGHT - LOW LEGS -15-24"	•	G - SPECIFY TOP
			TOP: FUSION MAPLE EDGE/UPPERS: BLACK		
163	9	22.PR3100ACR.FM	FLEETWOOD	\$368.71	\$3,318.39
			SMALL TABLE - 18"D X 30"W X ADJUSTABLE LEGS 24- LEGS (4), 3/4" TOP WITH ROUNDED CORNERS AND 3 LEVELERS. LAMINATE: FUSION MAPLE EDGE: MAPLE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-DESKS AND TABLES, 5	BMM EDGE BAND, A	ADJUSTABLE HEIGHT,
164	1	FN.PR4280 BKA	FLEETWOOD	\$712.50	\$712.50
			FLIP & NEST TABLE, STEEL SQUARE I-LEG, FLIP AND NAND 3MM EDGE BAND, ADJUSTABLE HEIGHT, LOCKII 48"WX24"D X 25-32"HIGH	•	
			CHOOSE LAMINATE: ETCHED GREY CHOOSE EDGE: MATCH CHOOSE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-TABLES, SURFACE_M	ATERIAL5 : QTY 1.0	0



QUOTATION SUBMITTED TO:
HIGHLINE SCHOOL DISTRICT 401
15675 AMBAUM BLVD SW
BURIEN, WA 98166

DATE: 3/25/2019



GOOD UNTIL: 4/26/2019

QUOTATION: PBD2019015698

SHIP TO:	
DES MOINES ELEMENTARY SCHOOL	
22001 9TH AVE SOUTH	

DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			FLIP & NEST TABLE, STEEL SQUARE I-LEG, 1" TOP V BAND, ADJUSTABLE HEIGHT, LOCKING75MM CAST 72"WX24"D X 25-32"HIGH CHOOSE LAMINATE: FUSION MAPLE CHOOSE EDGE: MAPLE CHOOSE FRAME: GRAPHITE •SURFACE MATERIAL CHOICE-TABLES, SURFACE_	TERS.	
166	8	10.3800.2??.002	FLEETWOOD	\$1,317.63	\$10,541.04
			PLANE TEACHER DESK, SINGLE PED, FULL END LEG, ROUNDED CORNERS, RIGHT SIDE PED, LOCKING DI ARCH DRAWER PULL COLOR IS SILVER. 48"WX29"ILLAMINATE: FUSION MAPLE EDGE: MAPLE FRAME: GRAPHITE PULLS: SILVER •STANDARD COLOR COMBOS-DESKS, DESK_CLRO	RAWERS, LOCKING 75 HX26"D	
167	1	031696	SCHOOL SPECIALTY	\$292.49	\$292.49
			NEEDAK SOFT-BOUNCE NON-FOLD FITNESS REBOU FRAME AND A 28 INCH DIAMETER PERMATON REE FRAME AND LEGS, WITH JUMBO DUAL-SPRINGS A MECHANISM THAT RENDERS A CONTROLLED, EVE SOFT-BOUNCE WITH 300 POUNDS OF MAXIMUM V AWARENESS AND COORDINATION/BALANCE, WHI EXERCISE. DOES NOT INCLUDE SKIRT SHOWN	BOUNDING SURFACE. ROUND THE BOUNCE N DESCENT AND A M WEIGHT CAPACITY IM	STURDY METAL SURFACE PROVIDES ORE ENERGETIC LIFT. IPROVES SPATIAL
168	3	1597883	SP RICHARDS CO FURNITURE DIVISION	\$194.96	\$584.88
			RISER - MONITOR - GAS LIFT - BLK - LLR99553		
169	3	PN59BBFTL	GLOBAL	\$1,026.56	\$3,079.68
			WD1 - WARDROBE STORAGE - 24"W X 24"D X 52"I BOX/BOX/FILE. LOCKING LAMINATE: CLEAR MAPEL CMB PULLS: FLARED PROFILE/SATIN ALUM(SILVER)	H - WARDROBE SIDE,	STORAGE CABINET,





QUOTATION: PBD2019015698

GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

# QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
170 5	PN59BBFTL	GLOBAL	\$1,026.56	\$5,132.80
		WD1 - WARDROBE STORAGE - 24"W X 24' BOX/BOX/FILE. LOCKING	D X 52"H - WARDROBE SIDE,	STORAGE CABINET,
		LAMINATE: WALNUT HEIGHTS #WHE PULLS: SQUARE PROFILE/SATIN ALUM(SIL	/ER)	
171 1	012455	SCHOOL SPECIALTY INC	\$242.45	\$242.45
		CLEANED. THEIR DURABLE CONSTRUCTIO IDEAL FOR INSTITUTIONAL USE IN PHYSIC, EDUCATION PROGRAMS, PRE-SCHOOL PR GYM. MEASURES 10 H X 24 W X 26 L INCH MADE OF MOLDED FOAM COATED WITH USE UNDER THE BACK, ARM, OR LEG FOR PROVIDES THE NECESSARY LEVERAGE TO INCLUDES: 1 POSITIONING WEDGE: BLUE	AL THERAPY DEPARTMENTS, DGRAMS, PHYSICAL EDUCATI ES. A TOUGH INTEGRAL WASHAE COMFORTABLE AND FUNCTION	HOME USE, SPECIAL ION CLASSES AND THE BLE COATING ONAL POSITIONING
172 4	FREEFIT 30X70	GLOBAL	\$1,804.80	\$7,219.20
		WS1 - SIT-TO-STAND TABLE 30"D X 70"L \ 3 STAGE COLUMN, HEIGHT ADJUSTABLE P FREEFIT™ TABLES 70"W RECTANGULAR TO LAMINATE: SOG STORM GREY FRAME: CHARCOAL	ROGRAMMABLE BASE FFHAT	•
173 2	PN2436DM	GLOBAL	\$722.38	\$1,444.76
		WS5 - OFFICE RETURN - 24"D X 36"W X 29 PENCIL DRAWER CENTER GROMMET - CHOOSE LAMINATE: SLATE #SOG CHOOSE METAL: CHARCOAL	"H - METAL LEGS - ADD	





DATE: 3/25/2019 QUOTATION: PBD2019015698 GOOD UNTIL: 4/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	DES MOINES ELEMENTARY SCHOOL
15675 AMBAUM BLVD SW	22001 9TH AVE SOUTH
BURIEN, WA 98166	DES MOINES, WA 98198

PROJECT SPECIALIST:

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
PRICI	NG IS TH	ROUGH NAT	IONAL IPA CONTRACT #R1	.41608.	
PRICI	NG DOES	S NOT INCLUI	DE WASHINGTON STATE S	ALES TAX.	
INST/	ALLATION	N INCLUDES F		INSTALLATION. ACEMENT IN CORRECT LOCATIONS & REN ATOR IS NOT AVAILABLE, ADDITIONAL ST	
		-	TE TO YOUR PURCHASE O	RDER & SEND DIRECTLY TO WENDY KENN rd@schoolspecialty.com	NARD WITH SCHOOL
AC	CEPTED B	ЗҮ			
DA	TE ACCE	PTED		TOTAL	\$1,055,992.69